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These constructions are similar to those for a converging 

mirror, but here the light is diverged away from the 

principal focus, which is behind the mirror.

Construction 1

Parallel rays of light are reflected away from the 

principal focus F  (see Experiment 24.2 and page 172).

Construction 2

A ray of light travelling to the centre of the mirror is 

reflected so that the angle of incidence = the angle of 

reflection (i = r).

(Instead of using a protractor you can make sure that the 

2 distances marked ‘d’ are equal.)

Drawing a ray diagram

The steps are the same as for a converging mirror.

Note that the image in a convex (diverging) mirror is always 

· erect, 

· diminished,

· virtual.


Questions

1.
An object 2 cm high is placed 10 cm from a diverging mirror 
of focal length 10 cm.


Draw a ray diagram on graph paper (full size) to find the 
position, size and nature of the image.

2.
An object 5 cm high is placed 15 cm from a convex mirror of 
focal length 10 cm.


Draw a ray diagram on graph paper (full size or 1/2-scale) to 
find the position, size and nature of the image.

Convex (diverging) mirror
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